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[ FI." POI’tIoll Test - 4
s'anda'd x" M." 90
.3.00 hrs
e # 1 MAT"EMATICS JHall Supervio’
D C the
- porctions: 1) Check te Teestion tack of /""" inform

2) Use Biue ms. 0x1720
O Black iny g, write and underline and pencll 10 draw dlagrd 204
¢ §) Answer all ghe questio, PART- | rrnﬂ"d‘"‘
i) Choose the most yyiqppe P code with he €0
answer, answer from the RIven fouy alternatives and wr
I lfladj(ade)|=|M9 s o
) 3 L)Tthcordcroﬂhculum;n;mxms d4) 5
c
2 1f ATA™ is Symmetric, then A? =
~}y2
a) A~ d d) (A7) Py
3. If fand .b) (A%) ¢) A f )(x),Mdecgrccofhll
: gare N'Ynommlsomegwcsmandnrespoctivcly,andif h(x) = (I°8
m
. . S
4. If cot 1x=—5—- forsome x € R , then the value of tan™" x i
‘R
_n n mn : dy =52
a) ~— b) — )y — 10
2. . ) 5 °) 10 . mx+y=6mlx+2y=4
5. Theradius of the circle passing through the point (6, 2) two of whose diameter
)
a) 10 b) 25 ¢) 6 d) 4
6. If x +y =k is a normal to the parabola y2 ~12x, then the value of k is
a) 3 b) -1 ' ¢) 1 d) 9
7. 1fzis a non-zero complex number, such that 2iz? =7,then|z|is
1 : .
a) 5 b) 1 c) 2 d) 3
z-1 .
8. If ;_+—] is purely imaginary, then | z| is
1
a) 5 | b) 1 ¢) 2 d) 3
. - = P - h - -
9. The angle betweentheline r =(1+2j-3k)+1(2i + j~ 2k) and the plane :'(';+_‘i)+4=0 ‘«
a) 0’.: ‘ b) 300 C) 450 d) 900
he planes ? Zi—l:i+|2)=3 and r'(4§+j"“i)=5mpal’allel. s
10. If the plan ( 1 | lhmﬂ]e\ﬂluch}Land H are
1 y ~—, 2 ) <oy
LY, b) ’ ’ 1
2) - 2 4 3.2
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XII-FP4-23 1ichy<oondinate %Bmarmsaagﬁxaga_ S XII-FP4-23 5
1,7 W inate i
11. The pointonthe curve 6y =X ¢) (41D d( (~4, - H : 1 interms of
4,-10) & when their sum of th ' 2. 16 o, and y are the roots of e o, 5 _ 0. find the value of M_S
3 (41D N 1 ?&ucn:ﬁ.::ag nwncgmwmg. 3:35: xu+—§ ygx+r="4
12 ?qﬁ%ﬁéﬁ%ﬁ?&ﬁﬁa 0 28 d) 5 i is coefRcients:
100 b) 2547 . -
& bt S a.&:-_ﬁf_.ua.s and degrees)
' then —— i . radians :
13. If f(x. y) =¢, then 3o isequal® 2
. : ¢ N d ind the equations of the tan 2 5 PL3 B
9 e b) (s a)e® ) (1+y)e ) (14x)en 5. ¥ ofthe tangent and oy e x? +y? =258
"o+ 7 -x+] 26. Find theangle made by the straightline X+3 y-1_ _, with the coordinate XS
X' =X+ IN - dy; 3 =L = . "
14. The value of ._.H%\H B I £ . 2 ¢ of the volume with respect 1©
x4 ) . 27. Ifthe volumeo mn:g&m_%_o:awi:ut mnmn_na»no?__gm
a) 4 b) 3 c) 2 d) 0 when X =5 units. '
n
z S 2 2 l._u.
. B B X Nﬂﬁ 2]
15. The value of ._.z.:.x&.. & 28. Find the partial derivatives of the function hix, y, anxmscacx 4
0
3= 3 in 2n %
9 10 b) Mu ©) iy d) = 29, Evaluate: .TE.,_l%
16. The sohu dy | g 0o z?%?%:ﬁi%
- Ihe solution of the differential equation ﬂ;ﬂlm 20 30, Four fair coins are tossed once. Find the probabiity mass function, M€t . g
+sin” . : oceurred.
. M,...Tms 'X=c B xesinly=0 0 yli2sinlxoc i) 2l g heads ..
- order of the differential uation of all ci : . = : I) Amswer any seven questions.
8 2 0 uﬂ o nﬂﬁs“wmﬂnaﬁ? k) and radius ‘a’ is Note _.w oy (Ao,
18. Oﬂngﬁmﬁ_ﬂnngrx S nc 1 a0
Sikeciv exam with 3 possible destructi -5 3 find A1
__:E_mﬁ9558:85?@53@5”%8&%@pgoﬁsnuag__&;s: 3K >uT § .@.m_ss&a A’-3A-T,=0,. Hence
3 55 b) = 1 g . N & . a:.-,:u-_w-__mua.
19. Considera 8 ©) 243 d) — 32. Ocﬁsﬁmﬁuﬂ_mnﬂcw:cnmo: elocusof z=x+1y
Esgﬁngvﬂgmmgb_aﬁg&m Ifthe 243
«um.oﬁgwnun_cmam K2 s - E&ESB&%EPES?&;;E mﬁ F-AJ B:-_Hmj
. » where k is ; cos| sin”' | = |- :
Ss._hmeE inis @8&285&..6 k={,2,3.4, 5}. The expected amount 3. Findthevalue of ’ : i f the focal distances of any point P on the sﬁ.o_&o_w
- 3 \S L2 3 3 34. Show that the absolutg value on.&_.?a:ngﬁ the fo
20. i = : its transverse axis.
m%?zm:oamo_q&n?:os%mm\whngﬁ & 2 4 =3 is the length of its tran P 7 & |...¢ Bﬂ+=m..mun5n values of
- ~galion of a negation of 3 sta - 5y oaa P oot 80 T siigjek and @R (bxF) <407
b) R?ESEE%%WM_E o s the salement self 35, If a =i+2]+3k b=2i-)*k
MN hw the last column of its truth BEnMcaSﬁEHB_u_Woeh_ﬁ:”awwnscs_o@ ¢,mand n. ,
Y iti . . —— = X.
et =t g, o 36 EnﬁEnZmo_mcm_._aﬂ..ﬁnxv%wssogn_E_rsos f(x) =cos

fe: ﬁ \As@.hﬂ

- ._...-.EEI‘

i) Quesiion A, 2 7x2=14
n No, k&ﬁg_@w

tiable functions. Show that d(fg) = fdg +gdf .

37, Letf,g:(a, )R be differen

tog2

.— oM dx

fopl i
39, sablish the cquivelenee proprty oIS

MRH ux+<+£n
40. Solve 5 =

38. Evaluate:

the hi<conditional with conditional p <> q = (p —>q) A(q = P)-
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XII-FP4-23 4
Note : Answer all the questions.

41 ) Determine the values of A for which the system of equations x-+y-+3z=0, 4y ™

2X +y + 22 = 0 has (j)a unique solution (ii) anon-trivial solution. 0

2 _e\12
b) Show that (l 2 7-1] +(2q—5|-] is real.
9+i 7-061
42. ) If 2cosa = x 4} ! i L 2isi
2 05(1—)\4-; and 2cosp =y +—, show that (i) Xy —— = 2isin (o + )
Y Xy -
.. 1 '
(@) x"y" + ;E;F =2cos(ma.+np). (OR)

b) Solve the equation 9x° - 36x + 44x 16 = 0 if the roots form an arithmetic progression
a) If cos ™' x + cos™! y+cos z=m and 0 < X, Y,
b) A semielliptical archway over a one-w

width of 3m and a height of 2.7m. Will th
: Jm., ¢ truck clear the opening of the archway?
- a) Find the coordinate of the foot of the I "

" perpendicular drawn from the point (-

43,
z <1, show that x2+y2+22+2m

b) Find the equations of the tangents to the curve y=

=1.(0R)
way road has a height of 3m and a width of 12m. The truck has a

3
7x5=3£

Y"'A.Z::(]’

L, 2, 3) to the straight line

1+ x> for which i ' i i
ety X c ﬂ:etangentlsonhogonalmththelme

45‘ 2 F. - . e s .
a) Find the intervalsof monotonicities and hence find the local extremum for the function f(x) = 3

(OR)

b) Let w(x,y, i)*-‘

l .
T35 o &y.2)£(0,0,0) g O'w  w otw
m . ).bhowthat E§+E?+E-j—=0.

2

46. a) Evaluate I(4x2 —1) dx as the limits of symg (OR)
I

b) The velocity v, of a parachute falling verticall y satisfies the equation v

are constants. If vand x are both initially zero, find v ip terms of x "

X
——logx.
3 g

v2)
= g[[— | J,wht*re gandk

random variable X has the following probability masg fiyrer: P 1 >
47, ﬂ) A ssfumtmn‘ |f("\) k.‘! le 3k* | 2k(

x {1[2]3Ta]5s

Find mmevalucofk (i) P(25X <5) (i) P3<X).
. dy_sinZX_ 3%’ y
b) Solve: '&;" 1+x3 1+x°

ok ok
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